o

750,397

H - B S9l(3H) - A - B ol ke e HlmS2
= 240,733,248 215,451,319 25,281,929
= 29,223,950
168,141,216
& 43,368,082
SZEYAMI(=E 209,621,564 193,540,861 16,080,703
= 18,466,051
168,141,216
& 23,014,297
dsg 54 19,496,730 9,229,361 10,267,369
= 13,447,911
1,294,470
& 4,754,349
D= Mak- O3 428,900 497,000 268,100
202 04d| 6,000 5,000 1,000
01 =W OdbI 6,000 5,000 1,000
orEd=sy 4 6,000
308 AHXIHMSOI & 50,400 72,000 A21,600
01 X SHHBLERS 50,400 72,000 A21,600
OTSESsM=E & 50,400
403 XX SHHSA=01H 372,500 420,000 A47,500
01 AXISHHA2EE 372,500 420,000 A47,500
ozletE=sst= It 332,500
OAMAHZE zEHE 40,000
HIZ JtZotE XA 11,486,111 0 11,486,111
= 9,571,751
= 1,914,360
308 AHXIE SOl 11,486,111 0 11,486,111
= 9,571,751
= 1,914,360
01 IXSHBAEX 11,486,111 0 11,486,111
Odlz JtZHers 11,486,111
= 9,571,751
& 1,914,360
TEtdse 2435 XA 205,520 519,600 A314,080
308 AXIEHMSOIN 205,520 519,600 A314,080
01 RXISHZ & 205,520 519,600 A314,080
OzlIEtZ st 49,700
OzlgtZ=sdtE AIE= 97,020
(OE=NIINE IS 58,800
SN XA (=1 3,955,397 4,767,707 A812,310
3,205,000




FA HetE sy
A ARNSAMRN D (YA /52 - 55)
el Edsey =4 (SH9 M)
SA - ZE - BR(3) - HRA - B of v e HIDE2
308 XXM SOl 3,955,397 4,767,707 A812,310
= 3,205,000
== 750,397
01 XN BSELES 3,955,397 4,767,707 A812,310
OEMEHM K& 3,955,397
= 3,205,000
& 750,397
EZsYAE(20) 1,294,470 1,201,180 93,290
7l 1,294,470
308 AXIHSOIA 1,294,470 1,201,180 93,290
) 1,294,470
01 AXEHH B2 LS 1,294,470 1,201,180 93,290
ozlatEsg AEX=K 1,204,470
Il 1,294,470
SIsSAM K& (21) 319,332 369,374 A50,042
= 221,160
= 98,172
308 XXM SOIA 319,332 3,774 N22,442
= 221,160
== 98,172
01 HRESHH B EES 319,332 341,774 N22,442
OFRIISSAM K& 319,332
= 221,160
< 98,172
SYEFEMIZ (S 1) 585,000 585,000 0
= 450,000
= 135,000
308 AFAIEHMSOIE 585,000 585,000 0
= 450,000
= 135,000
01 XN B2 LS 585,000 585,000 0
OsYyEdeEd=Ez 585,000
= 450,000
== 135,000
JIEHIE K& (HEAY) 1,222,000 1,222,000
308 AFAIEMSOIE 1,222,000 1,222,000
01 HASHHBSEXS 1,222,000 1,222,000
ORJIZHIE XA (HE) 1,222,000
2 3y 25 170,509,300 161,886,620 8,622,680
= 2,317,500
) 166,496,720
= 1,695,080
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FA HetE sy
A AUNSAMRYD(SYHYLL /52 - 5E)
e Aoy 3WH LS (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 15,000
=S 3,600
OJI=# 2 MEHEX K& 12,400
= 10,000
S 2,400
ISEN RSE-HsH(=1) 386,640 903,600 /516,960
= 322,200
= 64,440
403 AXIEHHSAH=201H 386,640 903,600 /516,960
= 322,200
= 64,440
01 XM= 2L 386,640 903,600 /516,960
OH 2x - MTAIA 386,640
= 322,200
== 64,440
BAxEZ HEXH(=21) 513,500 589,500 AT76,000
Il 513,500
202 04l 9,000 9,000 0
Il 9,000
01 =LHOHI 9,000 9,000 0
OSHA=H A=A 9,000
7l 9,000
308 AtXIEMSOIE 504,500 580,500 AT76,000
Jl 504,500
01 XN B2 LS 504,500 580,500 AT76,000
O= =M gEHl A& 504,500
Il 504,500
SAAEZ ELFZ Al XA (21) 52,220 48,870 3,350
Il 52,220
308 AtXIEMSOIE 52,220 48,870 3,350
Il 52,220
01 XN BSELS 52,220 48,870 3,350
O3dXES EAHAM X 52,220
) 52,220
SAR=ES(=1) 165,931,000 155,826,000 10,105,000
Jl 165,931,000
308 AFAIEHMSOIE 165,931,000 155,826,000 10,105,000
7l 165,931,000
01 XN BSELES 165,931,000 155,826,000 10,105,000
oJlEg SAAN=N 165,931,000
) 165,931,000
MEA B =222l JIsE3 ANgA(=21) 427,500 453,800 226,300
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A A
A AUNSAMRYD(SYHYLL /52 - 5E)
Pl Aary 3WH UEt (EEREE))
SN - ZB - C9(B) - MRAMY - BES ol by e HlmS2
= 336,000
= 91,500
308 AEXISHHMSOIH 348,500 274,800 73,700
= 266,000
= 82,500
01 AXIEHELAExS 348,500 274,800 73,700
O=22cls & EBALEIY I 100,000
= 70,000
= 30,000
©'243 AIEHX SIIXM K3 (B 4) 118,500
= 105,000
& 13,500
OAHMAMCR W= - 2A4dE 60,000
= 42,000
= 18,000
OMEAsY W=E - 8 70,000
= 49,000
& 21,000
403 XSS 201 79,000 79,000 0
= 70,000
= 9,000
01 XIXISHHAH=E X 79,000 79,000 0
O'244 AEEHR SIIXM K& (XH2) 79,000
= 70,000
= 9,000
XS MAD|E =H 13,148,984 13,217,347 268,363
= 37,440
| 350,026
= 12,761,518
FTA OIS 2&E 234 Mo 1,330,422 1,511,390 A 180,968
202 Ot 3,672 3,060 612
01 =WHO4 bl 3,672 3,060 612
OFTALHE &&= 3d8 =4 3,672
308 AXIHMSO0I & 1,326,750 1,508,330 A 181,580
01 XX B E LS 1,326,750 1,508,330 A 181,580
2AZHEEHE HLES AR 275,000
OZJAX X2 =4 36,750
Oo1ld=Yel s&Al X 315,000
Od=old HHEE N& 700,000
MNZX WSEX 54 XA 42,000 83,250 A41,250
403 XIS MSAHE01A 42,000 83,250 A41,250
01 XISH A= E X 42,000 83,250 A41,250
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FA HetE sy
A ARNSAMRND(STHYSL /52 - 5E)
ol sZIIHE & Aserd (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 2,196,200
=S 3,359,890
sIH S - 2l 2,264,100 4,045,675 1,781,575
202 04l 3,600 3,000 600
01 =LHA LI 3,600 3,000 600
O=sgJHs & 450y =4 3,600
308 AXIMSOIA 1,980,000 2,880,000 A900,000
01 AXIHHB 2L 1,980,000 2,880,000 A900,000
OZU=sIIA ==cl2&8l XA 90,000
sgE HAls Fedl XA 1,890,000
403 TR SHMSAH=01H 280,500 1,162,675 A882,175
01 AR A =2 £ 280,500 1,162,675 882,175
OsJIH LUAE X2 102,500
OsJIH 22& 1 &X 100,000
odHEE sIIAH XN&H 78,000
s LA A XI&(21) 1,875,000 1,875,000 0
= 1,250,000
= 625,000
403 THXI M SAH=01 ™ 1,875,000 1,875,000 0
= 1,250,000
=S 625,000
01 A= 2L 1,875,000 1,875,000 0
OsJIAH SUAE A XI&H 1,875,000
= 1,250,000
< 625,000
s S=HEX FHAE 66,990 66,990 0
= 46,200
= 20,790
308 AXIHMSO0IA 66,990 66,990 0
= 46,200
= 20,790
01 RSN EES 66,990 66,990 0
OsgIIH S=HEX 2R 66,990
= 46,200
= 20,790
=X 20AE SI1H K& (=21) 1,080,000 1,050,000 0
= 700,000
& 350,000
403 XIS A=201E 1,050,000 1,050,000 0
= 700,000
= 350,000
01 XEXISHHIX 1,050,000 1,060,000 0

- 592 -




2A:

X XH -
o=

=k A 9 HR)
SA - ZE - BR(3) - HRA - B of v e HIDE2

OF NI 2IH S sIIAH N& 1,080,000
= 700,000
== 350,000

CESIIH X (=21) 300,000 300,000 0
= 200,000
= 100,000

403 AXIEHMSAH=201d 300,000 300,000 0
= 200,000
= 100,000

01 AXISHHA2EE 300,000 300,000 0
O===JH HHMXA 300,000
= 200,000
=S 100,000

sgolg X2 910,460 815,568 94,892
= 467,000
& 443,460

sgos A 443,460 345,568 97,892

201 fer= 3| 20,000 31,000 211,000

01 AtR2te|HI 20,000 31,000 211,000
Osgely XZME 24 20,000

202 04| 3,960 3,300 660

01 =LHO LI 3,960 3,300 660
Osgele Xd g2=d 3,960

308 XXM SOIA 316,000 161,268 154,732

01 XN BSELS 316,000 161,268 154,732
Osgeld XJHE 22 66,000
OLl=el 22X 22E A 250,000

403 AXIEHHSAH=201H 103,500 150,000 46,500

01 AXIEHM A =2 £ 103,500 150,000 A46,500
0gl=el 22X =4 X 103,500

sENSERRA(21) 467,000 470,000 23,000
= 467,000

308 AHAIEHMSOIE 467,000 470,000 A3,000
= 467,000

01 XN BELES 467,000 470,000 A3,000
Os&NEUEAH 467,000
= 467,000

S| ZM (SRS 31,072,147 21,870,150 9,201,997
= 10,757,899
= 20,314,248

N E-SSHMA =E 11,266,900 7,640,750 3,626,150
= 10,300,000
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FA HetEsg
HE: SoMAD|Y T (SHYLA/SY - 5E)
Ciel: OIEE 2422 & (choy: @2
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 966,900
sSYdaIE Fb| 829,400 570,500 258,900
202 04| 8,400 7,000 1,400
01 2L A LI 8,400 7,000 1,400
O=gdLIet ZHI 8,400
403 AXIEHHSAH=201H 821,000 563,500 257,500
01 AR A =2 £ 821,000 563,500 257,500
O ZHIALY 695,000
OTHLHOrE AREXICH(M==XI) oHACHEH 126,000
Jt=Stibl SEHH 100,000 232,750 132,750
403 MR HHMSAHE01H 100,000 232,750 A132,750
01 MXIHH A =222 100,000 232,750 A132,750
ogxaE st 100,000
Bi==OH& (=2 0) 10,000,000 6,500,000 3,500,000
= 10,000,000
402 2I2FX+=01 & 7,290,000 4,000,000 3,290,000
= 7,290,000
02 QI T2 AL EE (01X THE) 7,290,000 4,000,000 3,290,000
Obf==JH& (01A) 7,290,000
= 7,290,000
403 AXIEHHSAH=201H 2,710,000 2,500,000 210,000
= 2,710,000
01 A= 2L 2,710,000 2,500,000 210,000
OB ==JH& (XHAI) 2,710,000
= 2,710,000
ISl S12(=1) 337,500 337,500 0
= 300,000
< 37,500
403 MR HHMSAHE01H 337,500 337,500 0
= 300,000
= 37,500
01 AXISHHA=2 2 337,500 337,500 0
OJtstbl S0 337,500
= 300,000
= 37,500
SYAADEH | 19,805,247 14,229,400 5,575,847
= 457,89
== 19,347,348
2olet HHl(HEAY) 11,040,300 8,237,400 2,802,900
403 MR HHMSAHE01H 11,040,300 8,237,400 2,802,900
01 AXISHHA 22 % 11,040,300 8,237,400 2,802,900
OEMBEE AT L|BHEHIAI (HE) 1,170,000
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dEtd =g
SOMAD|Y T (SRS - 5E)
SHMAD|BE HH| EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OZJ3K 7 LIIBHEHIAS (X E) 1,616,800
OLLHXIF EIIEHEHIAI (B &) 1,127,000
O"HIS X7 LIIBHEHIAI (X&) 1,398,000
OSREX+ LIIHEHIANG (B E) 1,192,000
OAEXIF EIIEHEHIA (A &) 1,720,000
OsEXXF LIISHEHIAIG (HE) 465,260
Oa Xl LIIHEHIAG (R 803,240
O=2 - HAEXIF LI|SHEHIAI (X8 1,548,000
=& FXFel(HSAY) 7,869,500 4,870,000 2,999,500
403 TR M SAH=01H 7,869,500 4,870,000 2,999,500
01 AR A =2 £ 7,869,500 4,870,000 2,999,500
OHEX 7 NP3 Hel A (HE) 1,324,400
OAMZXIT HREZXZLIAI (HE) 1,978,000
OSSN+ HREHIXHelAL (HE) 1,484,000
OYLAI T HREZNELIANS(HE) 1,569,500
O X+ Hr&BXHe At (HE) 1,118,000
SsX7 X He M (e 215,000
O=JX+F HREIXZelAL(HE) 180,600
A2 Hi=OH A (HEALY) 318,200 1,122,000 803,800
403 AXIEHMSA=Z01d 318,200 1,122,000 803,800
01 AXISHHA=2 2 318,200 1,122,000 803,800
OEIEXI7 A2l LA (M E) 258,000
OMEXIT A 2HIa=IHL AL (M EF) 60,200
=e|AlE Ili=E7(321) 577,247 0 577,247
= 457,89
== 119,348
403 MR HHMSAHE01H 577,247 0 577,247
= 457,89
< 119,348
01 A= 2L 577,247 0 577,247
=clAld Tloi=+ 577,247
= 457,89
= 119,348
HYE2SAH(E =) (DIEH/DIE 39,537 40,308 AT
Jl=3H| 39,537 40,308 AT
SEN2E Jl28l 39,537 40,308 ATTH
201 eer23y| 27,357 28,584 A1,227
01 AtR2t2|Hl 27,357 28,584 A1,227
FASE AR22l] 27,357
202 04| 7,980 7,524 4%
01 =LHOHI 7,980 7,524 45
OFAM2E =0 7,980
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